CHM152 Quiz5 Fall2014  Name: }‘4%———

Show all work to receive credit.

1. (3 Pts) Consider the weak acid CH3COOH (acetic acid). If a 0.048 M CH;COOH solution is 5.2%
ionized, determine the [H30"] concentration at equlllbrlum

0.049 x 0.052 = | ;§X/o /\/\Hpo
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2. (2 Pts) Predict the direction in which the equilibrium will lie for the reaction

H,CO; + F = HCO; + HF. K. (H,CO3) = 4.2 x 107; Ky(HF) = 7.1 x 107
A) to the right ‘
@5 to the left Fovove recdyy ac PN
C) in the middle

3. (3 Pts) Which one of these salts will form a neutral solutlon on dissolving in water?
‘@ NaCl eacly 1o Coviie b o Frou.
B) KNO, ' ~/—"L
C) NaCN
D) NH4NOs;
E) FeCls

4. (3 Pts) Which one of these salts will form a basic solution on dissolving in water?

A) NaCl ’ N .
KCN T+ H, o I Cn + Ok
C) NaNO; CN Hoo = ]
D) NHiNO;
E) FeCls
5. (4 Pts) Calculate the pH of a 0.021 M NaCN solution. [K,(HCN) = 49x10“'°] o
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More questions on back of page.
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6. ),2\ s) Which one of the following is a buffer solution?
" A) /0.40 M HCN and 0.10 KCN weak Geid

0.20 M CH;COOH
C) 1.0 M HNOs and 1.0 M NaNO;
D) 0.10 M KCN
E) 0.50 M HClI and 0.10 NaCl
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7. (4 Pts) Calculate the pH of a buffer solution that contains 0.25 M benzoic acid (C¢HsCO,H) and 0.15M

sodium benzoate (CsHsCOONa).

[K, = 6.5 x 107 for benzoic acid]

H.gf; + (g HgC b;




